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QUESTION 1

Refer to Exhibit: The internetwork infrastructure of company XYZ consists of a single OSPF area as shown in the
graphic. There is concern that a lack of router resources is impeding internetwork performance. As part of examining the
router resources, the OSPF DRs need to be known. All the router OSPF priorities are at the default and the router IDs
are shown with each router. Which routers are likely to have been elected as DR? (Choose two.) 

A. Corp-1 

B. Corp-2 

C. Corp-3 

D. Corp-4 

E. Branch-1 

F. Branch-2 

Correct Answer: DF 

There are 2 segments on the topology above which are separated by Corp-3 router. 

Each segment will have a DR so we have 2 DRs. 

To select which router will become DR they will compare their router-IDs. The router with highest (best) router-ID will
become DR. The router-ID is chosen in the order below: 

The highest IP address assigned to a loopback (logical) interface. 

If a loopback interface is not defined, the highest IP address of all active router\\'s physical interfaces will be chosen. 

In this question, the IP addresses of loopback interfaces are not mentioned so we will consider IP addresses of all active
router\\'s physical interfaces. Router Corp- 4 (10.1.40.40) and Branch-2 (10.2.20.20) have highest "active" IP addresses
so 
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they will become DRs. 

 

QUESTION 2

What is a valid HSRP virtual MAC address? 

A. 0000.5E00.01A3 

B. 0007.B400.AE01 

C. 0000.0C07.AC15 

D. 0007.5E00.B301 

Correct Answer: C 

Hot Standby Router Protocol Features and Functionality
http://www.cisco.com/en/US/tech/tk648/tk362/technologies_tech_note09186a0080094a91.shtml 

HSRP Addressing In most cases when you configure routers to be part of an HSRP group, they listen for the HSRP
MAC address for that group as well as their own burned-in MAC address. The exception is routers whose Ethernet
controllers only recognize a single MAC address (for example, the Lance controller on the Cisco 2500 and Cisco 4500
routers). These routers use the HSRP MAC address when they are the Active router, and their burned-in address when
they are not. HSRP uses the following MAC address on all media except Token Ring: 0000.0c07.ac** (where ** is the
HSRP group number) 

 

QUESTION 3

What command visualizes the general NetFlow data on the command line? 

A. show ip flow export 

B. show ip flow top-talkers 

C. show ip cache flow 

D. show mls sampling 

E. show mls netflow ip 

Correct Answer: C 

 

 

QUESTION 4

Which Layer 2 protocol encapsulation type supports synchronous and asynchronous circuits and has built-in security
mechanisms? 

A. HDLC B. PPP 
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C. X.25 

D. Frame Relay 

Correct Answer: B 

High-Level Data Link Control (HDLC) - HDLC is the default encapsulation type on point-to- point, dedicated links, and
circuit-switched connections. It is used typically when communicating between two Cisco devices. It is a bit-oriented
synchronous data link layer protocol. Point-to-Point Protocol (PPP) - Provides router- to-router and host-to network
connections over synchronous and asynchronous circuits. PPP was designed to work with several network layer
protocols, such as IP, and IPX. PPP also has built in security mechanisms such as PAP and CHAP X.25/Link Access
Procedure, Balanced (LAPB) - ITU-T standard that defines how connections between DTE and DCE are maintained for
remote terminal access and computer communications in public data networks. X.25 specifies LAPB, a data line layer
protocol. X.25 is a predecessor to Frame Relay. 

Frame Relay - Industry standard, switched data link layer protocol that handles multiple virtual circuits. It is a next-
generation to X.25 that is streamlined to eliminate some of the time- consuming processes (such as error correction and
flow control) that were employed in X.25. 

 

QUESTION 5

Refer to the exhibit 
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. 

Which switch provides the spanning-tree designated port role for the network segment that services the printers? 

A. Switch1 

B. Switch2 

C. Switch3 

D. Switch4 

Correct Answer: C 

 

First, the question asks what switch services the printers, so it can be Switch 3 or Switch 4 which is connected directly
to the Printers. Designated port is a port that is in the forwarding state. All ports of the root bridge are designated ports.
Switch 3 and Switch 4 has same priority so it will see on lowest MAC address and here switch 3 has lowest MAC
address. So switch 3 segment will play a Designated port role. By comparing the MAC address of Switch 3 and Switch 4
we found that the MAC of Switch 3 is smaller. Therefore the interface connected to the Printers of Switch 3 will become
designated interface and the interface of Switch 4 will be blocked. 
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